Rolled Ball Screws Standard Nut - Shaft Dia. 15; Lead 5, 10, 20

Accuracy Grade C7, C10

: Points of comparison between similar products | Consider using this product if the usage environment is a high-load, and high-frequency drive application.

Accuracy Unit Price 1 ~ 4 pc(s).
Nut Type o[ Shaft | o~ Sorew Shaft Nut NutType |"grade | Part Number ™i455 500 | L201-400 | L401-600 | L601-800 | L801-900 | L901-1200
Type |Standard [FPConfigurable| Grade | Dia. (MDMaterial | CZHardness | [E3Sutace Treament | (Material | Cx)Hardness | [3Surtace Treatment C7 BSST1505
BSST - c7 510,20 Induction - | @ rtogtak nesindiig
Standard | "BSSR | BSSRK 10 | 15 510 | S55C | Hardened [megaetamsitns] schazo Pt ——— c10 BSSR1505
BSSZ | BSSZK d 56~62HRC N Chrome BSSZ1505
Cc7 BSST1510
Standard Nut 10 BSSR1510
BSSZ1510
Cc7 BSST1520
*Included Collar (1 pc.) c10 BSSR1520
[@Material: S45C BSSZ1520
30° 30° BSurface Treatment: Black Oxide
& 3 g2 T 044 Example  BSSZ1505 - 200
> 3 s3 - BSSZK1510 - 370 - F20 - P8
S\ R0.3 or less RO.3 or less ' & 2 g8 @BSSR1520L - 370 (LType Greased)
/ S o *Included Collar & = @ BSSR1505G - 370 (G Type Greased)
o =2
o] - —
25 l 3 | HNotes
2 ) I — | (®Mounting surface of BSST ball nut flange is not surface-treated.
< L \ Collar \ 10 (®Filled with lithium soap based grease (Alvania Grease S2 made by Showa Shell Sekiyu K.K).
€05 | CO ! i 7 €0.5| C05 (®Various grease options are available. For price and specifications, 5 P686
115%™ 2-Seal = x —] (®)For accuracy of Ball Screws, see P2223 and P2224.
91579 L 10 4-4.5 Through (®For details of Support Units, see R753 ~ P778.
S 5 M6x1.0 Depth 6 (0l Inlef) (®Cautions:Do not let the nuts overrun or remove the nuts from the screw shafts.
12 Y (Nut Motion Range) 10 30 F_\Mi2x1.0 - - It may cause the balls to fall out or damage the ball recirculation parts.
L Arrow View X-X (®Use the "* collar" position in the diagram for the accessory collar. Use one of the support unit accessory collars on the fastening nut side.
(®Do not tilt the ball screw assembly since the nut may spin off from the shaft due to its own weight.
BSST, BSSR(K), BSSZ(K)1510 *Included Collar (1 pc.) Alterations Code Spec.
[vateria: 450 - -LEJ-[P - Fokewete) Wrench Flats on Fixed Side
30° 30° BSurface Treatment: Black Oxide Alterations BSSR1505 - 350 - KC10 ixed si
Adds wrench flats on the fixed side shaft end.
3 == oo _ T szc | Dt szc
°e '3 S5 045 s Alterations Code Spec. ‘ !1 08, [EH (®Bal bearings will fall out if the ball nut
2\ R0.30rless = RO.3 or less o 2 ncluded Coll $: ‘;‘ No Machining on Support Side Shaft End T crosses the wrench flats.
s o5 *Included Collar & | — . q
Il / . a sSS NC No machlnlng added on the support side shaft end. Keyway on Fixed Side Shaft End ] ]
§gr | i — - =] “=C!]="D [Ordering Code) NC Detailed Keyway Dimensions B P.684 Q(éds1ar:renywlr;acyr gpn teh:tﬂxed side shaft end.
g 73] . I~ =
2 / JI S— - — O KC | prem@Kcio
= | \ 10 Ball Nut Orientation Reversed (®)3<KC<Px3 KC<F-1
= \* Collar |<10_| (Support Side)y  (Fired Sce) - KC
c0.5 | CO. 1 | C0.5| C0.5 st @:[?0:, RLC Changes the nut direction. - .
115701 5-Seal ey~ [Ordering Code] RLC Keyway on Fixed Side Shaft End Adds a keyway at a customer specified area on the
01 Ll 4-55Th h Revisedmé]:@:h fixed side shaft end. (Keyway dim. is same as KC.)
9.15°0 5 10 4-5.5 Through ) _ : % KLC | K, S=1mm Increment
12 Y (Nut Motion Range) 10 30 F M12x1.0 M6x1.0 Depth 6 (Ol Inlet) No RetairingPing Graoveon Supportide Sheft End RNC No Retaining Ring Groove on Support Side Shaft End. K S e2l53‘15<KPI;(CS-K}(5;23<F-1
L Arrow View X-X ﬁ [Ordering Codel RNC(®)Combination with FC is not available. - -
Flat Machined on Fixed Side Shaft End X X
Change Support Side Shaft End Length Changes the length of the support side shaft end. Adds a flat on the fixed side shaft end.
BSST, BSSR(K), BSSZ(K)1520 * Included Collar (1 pc) 2 FC=1mm Increment SC=1mm Increment
’ (K), (K) 5 [MMaterial: S45¢ _L FC | [Ordering Codg FC20 SC 05 sc (Ordering Codej SC10
3 I o 30 30 [¥Surface Treatment: Black Oxide = 19.15 (®13<FC<30 : (®5<SC<Px3 SC<F-1
=
T — @Y di ion is shortened.
B So g2 1 | ¥ed Si e
g 3 33 . 045 3 Change Support Side Shaft End Machining Changes the machining on the support side, BIREDIEEE] On;ﬁg S'desi?az it %S\e\;ics tggi frl,atgtqn '?Gfgfﬁdgﬁ'fi Shv?‘ﬂ end.
R0.3 or less e RO.3orless S S =g b Qs selectable from 8, 10 and 12. e 2. | swe |37 20 Fosition S5L: 1207 Fosition
/. c - o2 52 2 BT | oo | SGC |G
o [ R o ZE3 = G [Ordering Code] GC-08-G20
85r | — R ¢ = |_&_| 2D s shortone. TS 051 _[05 ®5=5WC, SGC<Px3 SWC, SGC<F-1
=) [l B — © ) W / Tapped Hole on Support Side Shaft End A aped ol on e suport e st end Installing Special Temporary Shaft Special Temporary Shafts suitable with Ball
= il \ MC=1mm Increme Screws are installed.
| A\ - collr \ KN =E:1 ) MC | DeEmaCdgMe20  (@Ydimension is VIR - TAS | When removing Nut from Screw Shatt, always
cos | C0- oa b ! €05 €05 S~ 21| 1915 T shortened. use Special Temporary Shaft.
1.15'0 2Seal [T X -] - M TR Soren At (®For installation method, see P685.
91575 5 10 __45.5Through
— i Peripherals: Combination of the following parts is available. Support Units Support Sid
12 Y (Nut Motion Range) 10 30 F o\ Mi2d.0 34 M6x1.0 Depth 6 (Ol Inlet) WPerip gp upport Unfts Support Side
L Arrow View X-X Nut Bracket
Support Units Fixed Side
Nut Accuracy Part Number 1mm Increment Y Ball |BallCenter| Screw | Number Basic Load Rating| Axial Twisting . . . .
Type GI:;IE B‘Zg: ScrewShatt0D.| Lead L A7 *P Dia. Dia. | Root Dia. | of Circuits | ¢ {Dynamic) kN | Co (Static) kN ODI;‘:)::Lyess Direction Support Units - Square Support Units - Round Nut Brackets - Block Type
BSSR 15 10 L-67 _— . . i .
10 BSSZ 05 | 150-1200 0100r Il Combination with Support Units ECombination with Nut Brackets
g::;‘E 15-30 | 6-10 | L6249 s Ball Screw Part Number Recommended Support Unit Ball Screw Part Number |Recommended Nut Bracket
2,5 tums, Part Number i Part Number
= et 158 | (129) | "y | 91 | 105 1ot Type Shsa{;tre(‘)”D Lead T; ';e g ?ﬁ) Shape Fs':‘:g Sus;?ggrt Page Type Shsa(;tre(‘)ND Lead Type | No Page
BSSR 15 10 L-67 il b et b
Standard i BRW 12 O P767 05 BNFB |1505R| P780
BSSZ 15 10 200~1200 3.175 0.100r | Right d BSST d
Nut Roun
g G0 —Bssrk 520 | 610 | L Less Bem | 15 | 9 [[BUR |12 | ™ o O [ Pp768 BSSR | 15 | 10 | BNEM [1510R| P780
BSSZK 3 - 3 BSSZ
- R S BSSZ 20 [ BSW [ 2 [ 1 O P761 20 | BNFA |1520S| R780
BSSH . 0 LG : BUN 12 O P762 (®0ther than the part numbers shown above, a wide variety of Nut Brackets are
o - - - - also available. (P780)
o1 BSSZ 20 200~1200 158 (125) 1;21&;;5, 58 13.3 0100 (®)0ther than the part numbers shown above, a wide variety of Support Units are also available. (R761~P778)
BSSRK Less
BeszK 15~30 6~10 | L-(524f)

for BSSRK and BSSZK only. ($)F<Px3

El-707 Fadrae kgi=N0.101972 Kl-708




